
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

4.703 × ________ = 47.03 4.194 × ________ = 41.94

1.934 × ________ = 19.34 5.367 × ________ = 5367

9.385 × ________ = 938.5 7.917 × ________ = 791.7

8.512 × ________ = 851.2 2.435 × ________ = 24.35

5.913 × ________ = 59.13 9.534 × ________ = 9534

2.897 × ________ = 289.7 8.447 × ________ = 84.47

2.845 × ________ = 2845 7.649 × ________ = 76.49

3.402 × ________ = 34.02 5.868 × ________ = 586.8

6.706 × ________ = 670.6 5.141 × ________ = 5141

1.932 × ________ = 19.32 3.849 × ________ = 38.49
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